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0.06ppm 92.0
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0.12ppm
0.12ppm
0.24ppm
00. 06ppm 00.06 0. 12psOm12pp|m
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H16 H17 H18 H19 H20
0.06ppm 1 3 1 1 1
0.06 0.12ppm 610 670 603 594 689
0lpp 551 484 541 548 458
\Do 06ppm 00. 06 0.12pp0n.12pph1
4
,,,,,, (s.¢) .t oo 3T (83 co
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0
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0.06 0.12ppm 20 23 21 25 25
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o
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S51 S53 S55 S57 S59 S61 S63 H?2 HA4 H6 H8 H10 H12
s51] s52] s53] s54] s55 s56 S57] S58 S59 S60 S61 s62 S63 HLI
0p@. O#G. 0B®. 0BB. OBG. 0BG. 0BG. OBB. 0BB. OBG. OBB. 04Q. OBB. OB 7
0.0pG.0pG. OBA. OPO®. 0PT. OPG. 0PG. 0PB. OPO. 0PO®. OPB. OB@. 0PO. 0BO
H2 | H3 | H4 | H5| H6 | H7 | H8 | H9 | H1o H11 H12 H13 H14 H15
0p@. 0BOG. 0FB. 04Q. ONG. O@. OfG. OKG. O4GB. OfG. OKG. O4G. OHG. ORS
0BG. 0OBAQ. 0OB@.0BB. 0BG. 0BB. OBG. OBB. 0BG. OBG. OBG. 0BG. OBG. OB 4
H16| H17] H18 H19 H20
046. OHT. OBG. 04B. ONB8
0BU.OBB. 0BG. 0pO. OHB1
D0. 06ppMO. 06 0. Bappmpop/m [Do. 06ppMO. 06 0. Bappmppm
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sorpof | N g oMell 1 IF1 1
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°H16 | H17 | H18 | H19 | H20 H16 | H17 | HI8 | H19 | H20
0.06ppm 92.6% | 92.9% | 93.7% | 92.0% | 92.0% 0.06ppm 97.2% | 96.7% | 97.3% | 96.6% | 95.5%
0.06 0.12ppm| 7.3% | 7.0% | 6.2% | 7.9% | 7.9% 0.06 0.12ppm| 2.8% | 3.3% | 2.7% | 3.4% | 4.5%
0.12ppm 0.1% | 0.1% | 0.1% | 0.1% | 0.1% 0.1200m 0.0% | 0.0% | 0.0% | 0.0% | 0.0%
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No

n- Met hane

hydrocarbons

20 496 318
20
0. 18ppmC 0. 23ppmC
51 30 0.20
0. 31ppmC
—0— —0—
1.
0.
o
=
o 0.
o
0.
0.
0.
S51 S53 S55 S57 S59 S61 S63 H2 H 4 H6 H8 H1d H12
S51 S52 S53 S54 S55 S5 S57 S58 S59 S6(0 S61 S62 S63
0.450. 500. 510. 430. 420. 400. 380. 360. 350. 350. 3340. 350. 34
0.930.870. 900. 7190. 7770. 7720. 660. 620. §00. 570. 560. 570. §
H1 H2 H3 H4 H5 H6 H7 H8 H9 H10 H113 H12 H1S3
0.330.320. 320. 2090. 270. 270. 260. 2270. 2260. 260. 240 . 240 . 2
0.530. 540. 520. 470. 420. 420. 400. 400. 38 . 370. 3350. 350. 34
H14 H13 H14 H17 H18§ H19 H2Q(Q
0.220.220. 2210. 2110. 200. 190 . 138
0.310. 310. 2290. 2180. 270. 250. 23
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